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attested copy of Caste Certificate in case of SC/ST candidates only).

This booklet consists of 61 f’?igus for 160 questions + 2 l-‘_agn:s of Rough
Work + 1 Title Page i.c. Total 64 Pages.
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lime : 3 Hours A Marks : 160

Instructions :

(1} Each question carries ome mark.
28 [DdyS a8 S8y fod,

(ii) Choose the correct or most appropriate answer from the given options to the following questions
and darken, with HB pencil, the comesponding digit 1, 2, 3 or 4 in the circle pertaining 16 the
question number concerned in the OMR Answer Sheet, separately supplied to you.

Bl aDyd (BB (DS asgeds SO H0THs Faredsns: INED =00
Arded woB 1L 2, ¥ Y 4 ddm adys OMR pdres SE8od® (305
Bozofodd Togpghe LUk HB 86 @ay Jdafoh,

MATHEMATICS

L Iff:® =R andg: R — R are@uch that g(fix)) =1 s5in x | and f{g(x)) = (sin \"'r-:}:, then
a poussible choice for [ and g is

F:R R f0dke gaR > Roa BN = |'sin x |, fig(x)) = (sinv/x)’ sabgtood
woypd [ geod Mwisd JoRs

(1) fix) = x2, Qo) = sindly
(2) Mx) = sin x, g@P= ]
(3) fix) = sinfx k) = x

(4) 0x) Sxmelx) = Jx

Rough Work

10
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2. IM1: & = & s defined by

|
Y 4f x is even
fx)=1 2
I 0 i x iz odd
then I 15
(1) onto bul not one o one (2} one w one bul nol onlo
{3) one to one and ono {#) neither one l@wone nor onld
f:& =+ &
Y x 90 Sopg w030 )
fix)=4 2

|
"I -
l 0 (x g% Zowg wond)

e .;.;ﬁsf..':__ wdpda [

(1) Hoin= 2 wdgfo ré (2 -dsﬁﬁa =0 Hoyito =k
(3) wdgddur, bodnse #) edgsior s, dodniv 55
k
1 ||‘-I— i I * -I---l - lil'l-'[ﬂl'ﬂ'h']-"—rf' then k =
o Ixd 4 =8 n+l
o 4 L 4 -1-~—4 ...... wi{n- domol) = -E'n— wovdk=
7x4 4x6 Gx8 n+l
' JA('
EY I =
(5 2 3 3 8
Rough Work g )
1Q
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A

4. A regular pulygon of n sides has 170 diagonals. Then n
nogere (SH wooghal 170 QEgrer aTmyon. wdypds n - A

(1) 12 2y 17 (3) 20 (41 25

e e S— e
e —_— e =
—— s o ————

5. A committee of 12 members is to be formed from 9 womenand 8 men. I'hé mumber of

commiittees in which the women are in majority is

Y Hoob fLees, § Ho0d Phweo S0 12 #5080 wehgweifio Bodruy oy

Juwr0. Lo whfomr sl 2033 BoBre Dol

(1) =720 (2) 2702 (3), 2270 (41 2278

6. A student has to answér 10 out of 13 guestions in an examination choosing al least

s questions from thefirst 6 questions. The number of choices available to the student 18

w8 B85s" 13 fﬂ-’i’lﬂﬂam:}.ﬁ ﬂn‘gg Sudd 6 Ao ZioD) EMNa S EEAEES

morednr Sudo 0 (@4 o0 aav orabr g, ;)ﬂ‘ﬁ{‘}ﬂ By wIsEY Soeg

(1) 63 2y 91 (3y 161 (4) 196
Rough Work
1 = T80
L i
a5 ag "".‘:
L1 tr{r ,-r"l’:.' : ]
-, 1_'. \! \
=1 e h
-
3Q
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Tl | o

4 2
1 3 12) 3 1 (4)

4
x* b )
8. 1f ab # 0 and the sum of the coeflicients of x7 anda’ in the expanSion, of l-; J is

zero, then

1
'E] a4 g et 2 xie deselTodo Ry woud u::-.:pd;
h —l

I"k.
(1) a=b (@) ## b=0 {3} ab = -1 4y ab=1
9 ! _&ﬂq--h'—+ A1+ ...... 428 OLrsn=A~
X(x+ Rt 2) . (xan) X x+l x+2 %+ 0

'
@ Y& o)

(n-ry! r'(n ;r_}!

Rough Work

4 Q
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1 | 1 -
10. 77327520 7f
(1) log, 2 (2) log, 3 (3) log, 4 (4) log, 5

P Q .
11. In a triangle PQR, £R=*:. If '«ﬂﬂ[‘i]ﬂﬂd Wﬂ[g} are the roots of the equation

ax® + bx + ¢ = 0, thenr

- > s ; =03
28 ([Bdmo PQR&* £LR=7. "-““('ilmm[:i]m PhaEdmo ax’ + bx + ¢

Sarergd wdpds

(1) a+b=c¢ (2) B ™= 0 (3y atc=bh 4y b=c¢

b 3 )
12. The produck.of real roots'of the equation Ix|* —26|x|* -27=0 15

|x|g—26|15:—2?=ﬂ' sy TR Sarero ©uo

ay -3 (2) 312 (3) _3% (4) 3%

Rough Work

5Q
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13. If a, B, y are the roots of the equation

EAMCET Rank Estimator

H]"'F.‘L:'qx’rl‘_'ﬂ

then the coefficient of x in the cubic equation whose roots are e + ), Py + o) and

yla + B)is

a, B,y o whfdwo x4 pl +gx+r=08 S@Bd af <y, Ply + o)
yia + ) Saroroon Ao D38 ahiddmod® x nio

(1) 29 (2) q° + pr (30 P - ar (% #pq - 1)

|
and D= L 71If the sum of two roots of the equation
X

14. Let A=

2 " l E_d[l]
,iI I-I"l]-lll" dx %

Ax® + Bx? +Ex+ﬂ_‘ﬂ'lsequaltuz:m,ﬂ1cnﬂ=

w=]

1 o
C-—i[lljl , D= j"l—x w508, Hafdmo At 4B+ Cx+D=0
. dﬁ X l:||.l'-| 1:! X

TWaol), Bods darepe Swdo WWE) wond whyds B=

(n -1 (2) O (3 1 4) 2

Rough Work

6 Q
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W) 4B (2) 8B (3) 64 B (4) 128 B
1 I X x+] |
16. 1'[:J=| oK x{x -1} wx 1) ‘_—:ﬁllt:l:}v
!3:-:1\ 1y xix- Dix-2) (x-1)x(x+1)
(n o 2 1 i o - 500 (4) 500
-1 -2 -3 3 2.0 0
17. let A=| 3 4 34, 11—-1|: I ‘:] and@@=10 2 0 |. ifa, band c respectively
i s aJ » D02

denote the ranks of AgBand C then the correct order of these numbers is

-] -20s% - p. 0
A=l 3 NP5 Bu[ ! -"'].L‘-—- 0 2 0 lesofe8. a,b,coo 585 A, B, Ce
¥ -
| 4 5 6 y 002
E'Un vord s & Rowgo wohE |Eo
(1) a=-0G%c (2) e<hbh<a (3) b<a<cg 4) a<ec=<bh

Rough Work ' -

)
I:fl'i.' A1\ (8 rL

70Q
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18. Given that ae® + 2ba + ¢ # 0 and that the system of equations
jax + b)x +ay + bz =10
(bt + ¢)x + by +c2 =0
(o = by + (bax +c)z =0
has a non-trivial solution, then a, b, ¢ lie in
{1} Arithmetic progression (2) Geometric progression
(3) Harmenic progression ﬁ Arithmetico-geometric progicssion
aa® + 2ba + ¢ = 0 wa), BAS0n DgED
fax + bx +ay + be=0
(b + e)x + by +ce =10
(ae + b)y +(ba +c)z=0
B Ardgsd G5 58 sodn ah wipddbic o ao B8
(h =ofdd (2) HaeoHd (3) &@sffHs () wos-rhn(d

ES e

19. Ifu, 0. ¢, d & R are such thaiad b - -1anﬂﬁz+d:—iandil'
(a + ib)® = (¢ + id)y'(x +ag) then x> AP~
ab e deR oo o b1, ¢ + A wahybodl,
(a b ib)P = (c 6 x + ivl _mexd sy =
(1 4 (2) 4 (3 2 (4) 1

e e S - wr -

z.—i =2, then the greatest value of | 2z | is

20, If 2 is a complex_number@uch tha s

;r.—‘_—llz-l wond |28 0% Dewd

&l

2o8d Domg s

(a1 NG }}F S (M J3+1 ) 1+45

Rough Work

8Q
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21. If @ is 2 non real root of the equation x® — 1 = 0 then

U.: -l-u.] l-l.l.'l +ui Iz

i+ 1

EAMCET Rank Estimator

sh8dmo x® -1 =08 o % oade =9 drod edypds

ol v’ ratved
i+ 1
(1) @ (2) 1 (3) 0 (4) -1
22. The minimum value of 27 1an‘® + 3 cot’® is
27 tan’0 + 3 cot’d £0% Deed
(1) 15 (2) 18 {3y 24 i4) 30
23. cos 6% - cos T2* =
| 1 P 1
(13 1 2.5 G 3 i4) §
' n 2x
4. tﬁn-ﬁ*'a“[]ﬁ 'I'—}]"'“ﬂ[x"'-‘j—J;]‘ = lan :'I'H =
(1) 3 @ 2 B ) 0
X 3 X
25. 3 sin x + 4 osx =5 ﬂﬁiﬂﬂi-’gtﬂﬂ e
(1y 0 2) 1 (3) 3 (4) 4
Rough Work
9 0Q
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1
26, If —Sx=1 then

A

cos 'x+ms’1[i+-l- 31-3%% |=
2 2

'!51{'51 um#

2 ;
ms“x+ms"[§+%d3—h’_]= o‘
(m 2 @ 3 @) = 0 v@
= m
T el 2N
2 @, o

27. x=|u-g[i-+ ﬂl+r—II-}=:y- 0 o

(1} tanh x {2) coth x {4) cosech x

28, In an acule-angled triangle,

LutHcNE+uutﬁ col A

+ mf
0 e (31 1 4y 2

(2)
2%. Ifa, B, &timdtﬁ of a triangle ARC with arca A, then
2o ABC adydio Sdfe o, b,y wond odyuds

(2) cos A+ cos’ B 4 ¢ost C

A+ tan’ B + tan? C (4) co® A + cot B + cot C

th

Rough Work

n Q
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30. A vertical pole subtends an angle tan '[%] at a point P on the ground. If the angles

subtended by the upper half and the lower half of the pole at P are respectively ¢ and 3
then {tan «, tan i) = -

&8 nirdpowe Erivn Dol P &G tan ! (%) E"t:r‘_:.:ll bﬁaﬁa?&aﬂuﬂ. P &g w ;_humug,. =
wd b, Hob e g :In:i_‘]ﬁﬂ Eoren S5 a B 23 wdpds (lan u.'ﬁanﬂ]:_—

11 .2 21 p
I [ o - — — I 2
o) 0l o lla o
AL I p™ g™ o terms of a BCOmEIric progressiomyare the @ositive numbers a, b, ¢
respectively. then the angle between the ¥ectors I.'lugu‘t',li*-lrﬂﬂgh: }j+ﬁﬂ}_:,¢: 1k and
g - Fii 4 {r—p}i+{p -qjll-E s
a8 fndd Ty poq,rd Soesshm du @owgoo a b, ¢ wond WD pds
28 %oy (loga®)i4 tlﬂghzlj*-{lngtzf:. (q -rﬁ+{r-—p1}+{p~q}ﬁu S:gis Fmo
'[:” g f:} E" H{H;Ein_l I {q} Il.:
" 2 - 1..'-'33 + b+ c? 4
32. The vectors ARG 7+ Jiind BC=-7 -2k are the adjacent sides of a parallelogram.
I'he angle between its disgonals is
AB =3 -2)+ 2K . I:!-i'."=-i‘--ﬂ o &f Bdrodsd ﬁﬁaﬁié}ﬂ H'J::&;L Zaereny, ool
Lvigro Loy S'@o
=" n_2In = = n
{ 2 . L P = _— TE
W5 k3% () F°% M e
Rough Wark

EAMCET Mock Counselling
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33, The poimt of intersection of the lines

£y T =i = 6]+ 2K) + (i +2j + k)
Fa:R(u)=(4] + k) + u(2i + ] +2K)

AP's Largest EAMCET Resources Website

15
adY Bwos
£yt =00 - 6) + 2K) +1(i + 2] +K)
f:-’ﬁ"lﬂﬁ*ﬁ}*-q{ﬂ Fj+2k)e F85 Dol
(1) (4.4,3) (2) (6.4.7) (3) (8.8, 9 @) @092, 1)

3. Let G=i+2j+k, b=i-j+k and Z=i+j-k. A vector in the plan¢ of dandb ha
| =
projection ;ﬁ-unc . Then, one such vector is
d=1+2j+K, b=i-)+k 0080 §=7hj b ons'da i, b ol €05 siusvodh
!
v B04H ¢ B DEBo . wbyd ewed wuf Hod

(1) 47+)-4k (@) 37+5-3k (3), 47 - + 4k (4) 2i+j-2k

——m

35. Let 4, bandé be three non‘Goplanar vectors and let P.Gand F be the vectors defined b

- _ bxe Cacwe £ axb
T N T
m D8glomaind wiob'od. wdpds @+bB) p+(b+E) §+(E+id) =
(1) @ 2y 1 (3) 2 (4) 3

Rough Work

byt 12 Q
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36. E=?+]’—2E:Z fExi)xj)=

(M Je (2) 6 (3) 36 (4) &6

37. A fair coin is tossed 100 times. The probability of getting tails an odd numbér of tmes

15

w8 DrpEE Sy 100 P IhdTrd., Bh Dowgy Yogpd' Shmnd
‘;’:-m,r-:":gd ’

1 1

LT @ 5 )

| —

——— e = ———— o e

38. There are four machines and it is known that exactly two of them are faulty. They are tested
one by one, in a random erder till both the faulty machines are identified. Then the probability
that only two tests are needed is

Tt dhopreiatyon, @ 8d" JBr Tok Shpir aamychld) Bwde. oird)dysorr
a8 R gome widd Tods Sdypds aboleren Mood arse blE Ui,
sdypd> 20 Bods Whies SrEd HodTh Boysgs

] I I
a - 3 s
M 3 @ 3 M 3 @

Rough Wark

13 Q
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39, In an entrance test there are multiple choice questions. There are four possible answers U
each question, of which une is comect. The probability that a student knows the answer &
a question is 910, 1T he gets the correct answer 1o 8 question, then the probability that h
was puessing is
o D4 DS piraFD Y (D oayow. (28 (¥ alyd Teab asroed
eg8 Srad: S0TLS. w8 DRl wew S0% Dogrdpd 910, as (DS
oS waven HOTLAET wd wsH SWoDHETy Doyrdyd

EF) 3 1 E |_
40 37 @) 33 M5

— O

40, Suppose X follows a binomial distribution with parameters namd p, where 0 < p = L. |

P(Xx=r)

bX oo 7y s independent of n for every gythen p

Sordedaws n, p r 84DS Qe 268 Sood X eib'cd; acdd

F(X =1} o z _
0<p<l pxzn_n wdo (B8 & dged wgdodHd wdyds p

| ! | w }
(1 5 (2) 3 (3} 1 .

1. I X is 2 Poisson variate such that a = P(X = N=PX=Nthen (X =4)=

ef onerSCRot® X3 a=PX=1N=PX"2) word PX =4)=

[ o b
(1 2u @3 (3) ae e
Hough Work i
I ETL
PR |
L4
14 Q
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42. The point (3, 2) undergoes the following three transformations in the order given
(1}  Reflection about the line v = x

(i} Translation by the distance 1 unit in the positive direction of x-axis

n
3 about the origin in the anticlockwise direction,

Then the final position of the pont is :

Doty 34 2) B0l [Sdood® durdy DOSYSoH S HHE L
(1} SI3¥8g y=x = [Hadowme

(i) & x-wfo OIS | dlardd Dirodd HOSES

(11} Rotation by an angle

(i) Wty B4 SuroDodod) Sy ; Tmos®Befmno
o Dodedy &b>50
(1) (18, 18} (2} (-2, 3) (3970, V18) (4 (0, 3)

——— - —— = - -r = e mme m  mn — —

43, Il a, b, ¢ form a geometric progressiopith common ratio r, then the sum of the ordinates
of the points of intersection of thelineax + by ®e =0 and the curve x + 2y = 0 s
g, bocos adnd T8 r BRSO apipddh (40 26350r 4ol oD ypds
2O W ax + by + ¢ ~ 0, MNEY x + 2y S0 e das Do e ﬂf_ém HErase
Sudo

r

2

T P )
: O 25 (3) @) 1

i S ———— N -~ -

44, The equation of a straaght ling passing through the point (1. 2) and inclined at 45° to the
line y = 2x + | is
Bodesy (1. 23 €0~ dr, DE¢8p y=2x + 18 45° Eeardy dH Do dge
":}aiﬂ'd[ﬁu
(1} Sxgot Yu'F 2) Ix+y=35 (3) x+y=3 }mx y+ =0

Rough Work

15 Q
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45. A point moves in the xy-plane such that the sum of its distances from two mutually perpendicula

lines is always equal to 5 units. The area (in square units) enclosed by the locus of the point
15

xy-dood’ Lo 4d vovom 4ol Dol HO¥deo HoD of J0od Doded
En) vondroo Sgro 3ndo 5§ durdés. » Dol Dods Lo S0uSSTy
284 Breoge (SS8d dardedh)

25
(1) '4 (2) 25 (3) 50 4) 100
46. The distance between the parallel lines given by Ex_-.-?}rf'p-#-.qlrz (x #lyl=42 =0 1%
(x+=Ty Y + 42 (x+Ty)-42=08" Hchedd DSrodd ded S8 dréo
4
(0 3 (2) 42 jéfz (4) 1042
47. If the area of the triangle formed by the pair of lines 8x* — 6xy + y* = 0 and the lin
2x+3y=aisTthena=
ade Tziq:‘::d::ri';u 8x% — 6xyt vi = 0,088 dp 2x + Iy = a o8 '..."Iﬁ;}ﬁ | Bz
srogoe 7 woxnd =iy a = ¢
(1) 14 2) 1442 (3) 2842 (4) 28
48. If the pair of lines given By (x* + ¥°) cos’® = (x cos © + y sin 6)° are perpendicular to eact
other, thun @ =
?Jd#_n‘q-:'a‘.n'::ﬁ&a [:':3 + }'IJ cos® = (x cos O + v sin 0)! &0 HEEdpo nfornbEd
vonhd vapd ¥ =
X ® "
= o o
(1) 0 @ 3 3 3 o
Rough Work
16 Q)
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49. Given the circle C with the equation x* + y° — 2x + 10y - 38 = 0.
Match the List-1 with the List-1l given below concerning C :

List-I List-11
{i) The equation of the polar of ~ (a) y+5=20
(4, 3) with respect tn C

(i1} The equation of the tangent ) x=1
at (9, -5)on C

{1ii} The equation of the normal {c) 3x + By = 27
at (-7, =5)on C

{iv) The equation of the diameter of d) x+y=»3

C passing through (1, 3)
(e) x4
adys &g Sydo CHgboo x¥+y? - 2x + 10y -8R0
C 8 Sowobowds erDer-] Hood arDe-lI8 adbdthien :

el erDar-11

() Cdyrg 4 3 (godde (a) y+ 8§40
ha¥domo

{n} (8, -5) &g C ‘bjﬂ';'cﬁm (by x=1
Ba¥dmo

(iii) (-7, -5) & C efecndw (€) 3x + 8y = 27
paEdmo

(iv) (1, 3) orgo 2ol C TR0 (d) x+y=3
HiESnd

+ (&) x=9

The correct answer is
T.f.:-ﬂ-:?_ﬁ.:;‘.r T’..:-.’:-J‘n;ﬁ'ﬁﬁ:}

(i) (i1} iy (iv)
() {c) {a) (e) (b)
(2) (d) (e} ta) {(b)
(3) W) A8 (@) (b)
(4141l (h) ia) (e)

Rough Weork

17 Q
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§0. Consider the circle x? + y¥ — 4x - 2y + ¢ = 0 whose centre is A(2, 1). If the point

Pi10, 7) is such that the line segment PA meets the circle in Q with PQ = 5, then ¢ =

A(2 1) Bojlormr €03 Sydo X +y —dx-2y+c=0 2808, Doty R(10.7) 2
darpodo PA Syervy Q 8¢ woldna, PQ=3 ehgiol wbyds c=

(1} -15 (Zy 20 (3 3 (4) =20

51. If the line x + 3y = 0 is the tangent at {0, 0) 1o circletolradius 1, then the cenire ol one

such circle 15

rgé*giu 1 E!I__J:S 2.4 :El}u;:‘.s! i, a’xg "J}jﬁ;ﬁm x+3y =0 wond waodd ol

:1;'-*7_5.511 do|do

18 Q
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A

52, A circle passes through the point (3. 4) and cuts the circle x* + y* = a® orthogonally; the
locus of 11s centre is a straight line. If the distance of this straight line from the origin is

25, then a° =

Dodedy (3, 4) oo 3Th of S)do S0 S8o xT+yi = 5 ecow
edahonr wolinod: ovd $)d Todd Dodedgo wf DOV Te. daro Do

00 & HE¢de drdo 25 woud edypdr o’ =

5
1

(1) 250 (2} 225 (3) 100 {(—_l] 25 1

LA

)

- b [ ]
s e e m— o & = o

53. The cquation to the line joining the centres of thecireles belonging te the coaxial system
ol cireles 4x” + 4y? - 12x + 6y - 3 + An 22y &6) = 0 i S
. Ay
uhE S8 ndd Ayt 12+ 6y SR A(x + 2y —G)F0 & TobdS S8 So|mres
eph deg Bdnfdmo
(1) Bx -4y - {150 (2P 8x —dy + 15=10

(3) x -dy -5=0 ) (4) Ix-dy+5=10

— _—— e

54. Letx +y = k b6 normalto the parabola v = 12x. If p is the length of the perpendicular

from the focus of thegparabgla onto this normal. then 4k - 2p° =

Lordodho YOI RE s +y =k of edoon Tp. o Dodediy DIl &

wlooyn daoeairdo P woud H‘-;::,;u.'i,- 4k sz =

AN 2) 0 (3 -1 (4) 12

19 Q
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A

55, If the line 2x + Sy = 12 intersects the ellipse 4x® + 5y* = 20 in two distinct points A and
B, then the mid point of AB is

56¢ T 2+ 5y =12 Bgsygo 4x7 + 5y’ =200 Dods DB Dodeien A, Bo &4
podhr ol wdyd AB Sagdg Dokl

(1) (0, 1} (2} (1, 2) (3) (1,0 @) 2. 1)

S —_—

56. Equation of one of the tangents 'pnssing through (2, 8)to the hyperbola B -y =5is

w8 dordodio 5x7 -y =535 (2,8) orgo 0N g B0 Daudmo

P

(D) +y-14=0 &7, 2) 33y ¥2=0
e 'I.-""L

(3) x+y+3=0 Yt (@) x-y+6=0

57. The arca (in square units) of the equilateral triangle formed by the tangent at (+/3,0) to the
hyperbola x* — 3y* = 3 with the pair of asymptotes of the hyperbola is

s8 Sovdodko x -3 E38 (5,00 34 D8 ;Te, @D widod Hy68pe uss
2633 HEaotro (840 Jrogo (SE0Y WBarg )

1
(1 J2 2) 3 %) 73 (4) 243
Ruugh“’:k
0 Q)
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'I'hﬁ:radiusuflhecircltr=IE:nsB+5mnBi3 s

ﬂ..}'.."'.": i H_
T ™
Sydo 1= 12 cos B+ 5sin0 a'-ﬁﬂ'gu P
15 13
2 .2k G) = @ =
) 13 (23 2 2

. 2,148 4.
If x-coordinate of a point P on the line joining the peints Q(2, 1), and R(5, K22l 15
then the z-coordinate of P is N\

: ) 4
foddes Q(2.2,1),R(5,1,-4) o E0% Bpd e Dol P Wy -2 EFDE0
wond P Do) z-AErote

' 2
(1 -2 2y -1 & 1 (4)

i de b
A straight line is equally inclined 1o all the three goordinate axes. Then an angle made by
the line with the y-axis is

28 H0¢ e Suomdd dErassod SETS Feo Do aod. © 2f¢dn y-ugod
=% g*mo

2 n
cos”| 5 @) ““54[ I’] 3) *“"t"ﬁ] 0 3

Rough Werk

EAMCET Mock Counselling
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61. If the foot of the perpendicular from (0, 0, ) to a plane is (1, 2, 3), then the equation of
the plane is

(0,0,0) 3308 of Sorf ADS vow So (1,2, 3) wond wdpd o Dide

mafdmo
(1) 2x + vy + 32 = 14 (2) x +2y + 32 =14
(3) x v 2y + 32+ 14=10 (4) x4+ 2y -3z= 14

e e e e e ————— — —

62. The equation of the sphere through the poims (1, 0, 0). (0, J @) and (101, Ipand having
the smallest radius s

Sedees (LU0, 1,001, 1L ) e arrom J6ES. w8 & a0 Frardo 505 Al

A

S8 mo

(D 3x*+ ¥+ 7). dx—-dy-22+1=@
(2) E{.‘:J‘}rzi-.-!z}-.‘rx-.'1-:r—.zr|“l}
() x4y vz oyt R

(4) x4 y2+ 22 2 2NW + 1o 0

4

(1 o' (2) et i3) ¢ (4) e

Rough Work
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A

64. Let [ : R —» R be defined by

|u+:q'—n'-'1-| if x=0
X
f(x)= 2 if x=0
.|!-+-5.“!£|—-:||i| if x<0
LS

where [v] denotes the integral part of y. If T 1s continuous abx = 0 then - a =

[:R=+R2

sin |x

o+ sin_[x] (x>0 wond)
%
4 (x = 0. es0m)

li+[5-@-!- x] (x <0 sond)
; .

e :-Jdi{.:um;’,a:.‘-'aaﬁ‘uﬁ. (&agd 1yl wdo y Tl Wyrgrof Ty BrOh08).
x=0 54 Faaﬂl}ﬁl_ﬁf_qﬂ whyds p-a=

{1y -1 (2) 1 (3} 0 (4) 2

Rough Work

23 Q
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A

i i /4 r
65, l'{x}=lug{:1[1-;i] =f'(0)=

(4) 1

|l

(1) ?I (2) 4 (3)

dy
66. If xy # 0, x + y # 0 and x™y" = (x + y)™" where m, n € Wythen ix &

d
xy#0,x +y»0,mneNEx™ =(x+y) Teond edpd =

=

y X+ ¥ x
(1 ) (2) (3) xy (4) y

dy

] 2 dy _
dx

» ;
67, xR+ vy = |+;,:‘+y“= “+ 7

(n -1 (2),1 (3) 0 (4) 1

68. f(x)=(x?-1)) =8 (x)=

(n (2) 2! {3 7! (4) 141

Rough Work

24 Q
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/A

[ = - here the
69. The coordinates of the point P on the curve X = a(B + sin 8), y = a(l - cos ) w

L p
tangent is inclined at an angle 1 to the x-axis, are

S(go x = a(@ + sin 8), y = a(l —cos 0) > uE Doded) P 3¢ AR x-u5od

3% #wo % wond wdyds P JErosw
T
N o (501

(3 [a%«] (4) (a, )

iti 1 d 1t
70. If A is the area of the triangle formed by the posiliveX-axis and the normal and tangen
the circle x* + -_.-: = 4 al {1,\5}, then A =
r- - WERT B
Sydo x4 y=48 Q338 $hoonBr, B8 Tnes &5 X wgod' D03

Bz Frogo 4 sond wdypds A

(1 ¥3 (2 A5 3 23 (4) 6
2
Rough Work p
o
1*“'-4,.
50
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A

71. If the volume of a sphere increases at the rate of 2n cm’/sec, then the rate of increase of

its radius (in cm/sec),when the volume is 288n cm’ is

af A9 b S08red 5)0 T DEHDh In S howk, vowd R o S8Erme

288n $o. 0.2, adyDpdo msﬂ-g'{ﬁ a;gﬂm (%% Todhodh,

| 1 i1 o =
2
72. If u = f{r), where ©* = x? + y* then f‘; +‘3--‘ﬂ—-
al &
u=fird* f=x2+y wond 8D pd EJ—:+€1: =
ax®  ay”
(1) £(r) (2 B85 + 1'(r)
1

(@) '@+ 2 ) @) [(r) + rl(r)

I“ dx a
(L RN PP

{n l\|r4+xz+¢ (2) b 4+;1+.;

4 4

(3) ;'—]: d+F+c (4) %'-'4*1_:**:

Rough Work
26 Q
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A

1 -
74 !-*u.."xmm:"x dn=-3cm3:~:+ ktanx—2cotx+¢c =k =

(1 4 (2) 3 (3 2 4 1

dx
n g

VE—X
Er ] . V4
(1] 2sin 'Vx +¢ (2) 2sin'x + ¢ (3) 2x smn Iy ¥¢  (4) @n T Wx +c
o [
.Irﬁ HIE L1 . |+u"'
n
an
- 3) = (@) an
M 3 (2) n @)

77. The arca (in squdre units) boanded by the curves y* = 4x and x* = dy is

Lisres ¥ = dx. xt - dyod Bbod B84 Broge (J55 alardad)

2
64 16 8 2
(5 (2} 3 (3) 3 (4) 3
Hough Work
27 Q
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A

4
78. The value of the integral f .- - obtained by using Trapezoidal rule with h = 1 is
"

AP's Largest EAMCET Resources Website

1+x*°
4
h=18& SS5eon ﬁmﬁ:-aﬁ BrerSREiriod Hars0S0 -I-I 7 desd
+X
]
63 4 108 13
dy ;
79. d—+1;tnn[x-y}=l:um{x—3r]=
X
2 2 a5
(1) Ae™ (2) Ae™ (3) A" (4 Ac?
(Here A is a constant) (=538 A &% "ﬁyd wopg)
80. An integrating factor of the differemial equation
2 d:’, K‘ .‘]I__‘ 3
(1-x7) =2 4+ xy 2 e [ ‘""2) 2
dx 1+ x")\
wifod Heibmo
2, dy x! ‘{'_2' !
(1-x7)==+xy= 3 [ 1-x ] B o8 HErdos dwmfo
dx (r+x7)
| X %2 1
< (1 a2 @ -3 3 2 P e
-}E; P A
H.ﬂllgl] w&% LTI "
1* F TS “ 7O
Nw g . . B i
e b L L .- b B et I'-Lli
qll"r. &, h'k : Fp:_-" I{-. -""-__.-.-_-'ll. -I'"';"l;'. ) I'i!l‘:.‘L
i , B, R b e " r.' ¥
‘x:'-'.‘_ A ?_: .“.::f;;_'q _ o T 5
2 ® Nt MU Rl g
% sk % 1, f IIII"::;{- -".I-FF__._L :!IQ
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PHYSICS

1. The length of a pendulum is measured as 1.01 m and time for 30 oscillations is measured
as one minute 3 seconds. Error in length is 0.01 m and error in time is 3 secs. The
percentage error in the measurement of acceleration due 1o gravity is

EAMCET Rank Estimator

of Sufo dH 1.0l mmss, 30 Seroh b 5oy | Dsho 3 REloamd
Fosndsd Ponet ass 0.0l m sodnd® Sade 3. wond fbdy Sebode
Besiabe® &% mddo :

i1y 1 (2) 5 {3) 10 (4) 15

§2. Sum of magnitudes of two forces acting at a point is 16 N If their resultant is normal to
- emaller force, and has a magnitude 8 N, then the forees are

2f Dol 3¢ 50Uy Vodd vodas BISrTo BwdEn 16 N. 308ww0
05y voo 84S covorr B Tiyel B30 o L@5r00 BN wond o
(1) 6 N, 10N (2) 8N, BN (3) 4N, IZN (4) 2N, 14N

83. It is possible to project a particle with a given velogity in two possible ways so as to make
them pass through a point Pat a horizontal distance r from the point of projection. If t; and
L, are times taken to réach this paint in ‘two possible ways, then the product t t, is
proportional 10 :
@35 Dodad %ol L84 Bidrodddam ‘t' drdodt Ao wf Doy P age
Fgsen of S@sod Fod FAsns Tod dfsweam [HEDoSBsydo. Dodaipds
Hde Tod Dddpod’ B soduw i So8dsw 1, wond ogde lzﬂ‘ eda S S

SrdSnds' aadond

1 : |
(1) 2 {2) r (3) r (4) Ff

Rough Work

i & A l'—l\
s 2E e

.u_u !!r {[- g LS ‘I
i

::tl' T B 3 ) | i t'\l
- !
) [ I."‘,Iﬁ -
,‘.i']”: -.'!_" ._‘,.ﬁ 19 )
L E.
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A

The veloeity v’ reached by a car of mass ‘m’ at certain distance from the starting point

driven with constant power “P" is such that

Prond riagpied SdDwdd m EEgord do sd 3wdd Sws Fod drdod
Ll

o lE FM0 v wond

i
2

3p a2 3P 3. 3B . ‘3.'TJ
(st @ Ve = (3) v e HJ"“Lm

85.

86.

e
£ = e — e e
—

In Atwood's machine, two masses 3 kg and 5 kg are conneeled by a light slri!:.g. which
passes over a frictionless pulley. The support of the pu{lcr s ntl:gvr:h:d o the eeiling u_i' a
compartment of a train. 1f' the train moves in a horizontal dm:il:l.l.gh with a constonl scceleration
& ms2, the tension in the string in Newtons is (g = 10'ms 7)

wfHh dho|dind® Bods 3 kg So0dn Ske |GdgoidoNy e d0EL ed
Hvchidnd gy, o odod Pdndl uf £h o oty g% Hl‘.;u“ﬂ";;i'l 24
Bos wod Ih 0 pH DAowds. e e wod( f@a Hiroddom Ems” a3t
dgémbns BoSrdined ordod'd S8, Srpodd® (= 10 ms %)
(1) 3.75 @ 175 (3 15 (4) 20

—

A ball ‘A’ of mass ‘m’ moving along positive x-direction with kinetic encrgy I».. and
momentum P undergoes elastic head on ¢ollision with a stationary ball B of mass ‘M. After

: ko
collision the ball A mioves along negative X-direction with kinctic energy ~ Final momentum
of B is

‘m' @ Sgend, K Ade, 48 8000 P EagBdsn OAS AT mod gardys
x-04¢* ([DordEE Jore: Tgaﬁ‘ asy ‘M tﬁésﬂ'ﬂ fo ‘B' wodd" Aol
wDardo DolEBNsDiradn dogd A wod 3 fBw 4588 moord)s X-84st
$BD50, ShIRS0 Sorgd. B wod £8 |S3gddin

p 4p
(n P {1} i [3} —3" i4) 4F
Rough Work
0 Q
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A

{A) The position of centre of mass of a system is dependent on the choice of co-ordinate
swsfem,

87. Choose the correct statement

{B) MNewton's second law of metion is applicable 1o the cenire of mass of the system.
{C) When no external force acts on a body, the acceleration of centre of mass is zero
(D) Internal forces can change the state of centre of mass.

(1) Both (A) and (B) are correct i2) Both (B} éml:l {C} are wrong

{3) Both (A) and (C) are wrong (4) Both (A)and (D) are wrong

REN arggdady JaeyEiiede

(A) o¥ 555}2 Gdgod Tod Q‘;-“:—Em Do BTNy wbrnd iugﬁﬁ:pb LT~ T T, S350
(B) 3rgof Dodd Al Hr@dn |Sozo3 ol Sponu SPodm.

(C) erdrg woves SMHH 0D JabddaSigad Fud drdmdn drdgae.
(D) woddd weoro Ld::gu'% Toid "ﬂr&ﬂ L‘h:r‘ﬁa‘}:.'i.:.

(1) (A) S0ddx (B) Dodsr w0 ChaW (2) By S:8 i (C) Qodor S0y

(3) (A)S:8cin (U) Todr doyp (4) "(A) 520030 (D) Bodr 80y

88. When the engine is switehed off a vehicle of mass ‘M’ is moving on a rough horizontal road
with momentum P Ifthe cocfficient of friction between the road and tyres of the vehicle
is p,, the distance wravelled by the vehicle before it comes to rest is
moud: wLdDihdw e Als: L8 Sdroddy g ‘M |digod do af
avirddn P (Eds S Eed J00E50. §'dih Sddin Iy BN Sdg
Sodm fhmgda gy wond wfdFHeh duod oY G80d drddw

p? 2, Mg p? PiM?
—— 'k 4y —
Oy ° @ 5 B 5 ® S
Rough Work
30
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A

89. Assertion (A) : The moment of inertia of a steel sphere is larger than the moment of
inertia of a wooden sphere of same radius.
Reason (R) @ Moment of inertia is independent of mass of the body.

The correct one is

(1} Both {A) and (R) are true, and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true. but (R) is not the correct explanation of (A)

{3} (A) is true but (R) is wrong

{4) (A) is wrong but (R) is true

Q83850 (A) @ of Egu.‘u ¢S To¥) addg rSide wod Fgrddn de
DY (edn mddy rdfde oy 83,

imsn (R) @ wddp (grdofdn Sy (S35p008%0 wgrdddss.

all DoThEe

(I} (A) S:0dn (R) 205250, (R) wieid (A) T, RODLES 236

(2) (A) 3008 (R) R0T0ED, sn (R)efia (A)Tud; H0ELS Dide s

(3) (A) 200050 S:0ciw (R) ﬁﬁa:l'

(4) (A) S5p S:0a80 (R) HOFHNE

90. Two solid spheres A and B each of radius "R’ are made of materials of densities p, and p,
respectively. Their moments of inertia about a diameter are I, and L, respectively. The value

of ln i5
w5 58 RUang g S50 d6. Bods Dol Alvren A S:0c5n B Sdnm p, Sobolxm

Py rolfde fo Soged ddbwdsd. ogho Dom o0 eddy s

|
senm 1, S0l T wons, l—* Densd
B

F"n Ph Pa Pr

1} = 2 3 4y —

{ Pr (2} Pa (3) Pa (4) Pa
Rough Work

32 Q
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A

The gravitational field in a region is given by equation E =(5i +12j) Nkg . If a particle of
mas. 2 kg is moved from the origin to the point (12 m, 5 m) in this region, the change in
gravitational potential energy is

E=(5i+12))Nkg o3 28we orgor w8 (BB hhergide (8o adgndsn.

2kg (B3500% do of Sndad o Dodsd S0l (12 m, 5 m) Dodadd s
S80003T Mddy PBYS 14t Srday

(1) =225 (2) -240 ] (3) -245 (4) -2501

92,

The time period of a particle in simple harmonic motion is 8¢) At | = Ogit is at the mean
position. The ratio of the distances travelled by it in the first and Second seconds is

ROE drod s ﬁu:&nﬁ‘;ﬁa}ﬁl e fmo Ty Sorids Tede 810 54
vl Sidgds FrEod® Hod. eb Twdl(Bbdn Bodd BElied Pdreo
dhs droe SR

1 1 1 1
(1) 3 (2) ;) (3) -1 (4) NG

93. A tension of 22 N is applied 1o a copper wire of cross-sectional area 0.02 cm’ Young's

modulus of copper is 4l x 10" N/m? and Poisson's ratio 0.32. The decrease in cross
sectional area will be

0.02 cm’ wgs 6’8 Jrogds o o¥ oon BAL 22N 83385 (DWrAoT . oh
Sk ool Meddar 110" Nim? S:0050 SroouS D038 032, wé 5
drogodtd ddde :

(1) 1.28 = 10%em® (2) 1.6 x 10°% cm?
(3) 2.56 = 10°%em? (4) 0.64 « 10°° em?
Rough Work
33 Q
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#4. Drops of liquid of density *d’ are floating half immersed in a liquid of density p. If the
surface tension of the liquid is T, then the radius of the drop is

I rodd Ao (B85 Dodbipes p Frods Ao (BddnSos HABM S0In Feodad D,
[E8 dodlicd T wond o Dol argidd S

T LAY B P TN O
Ve(dd-p) i g(2d - p) 3) Ve2d-p) (4) T

—_————— —— — e
= T
=5

AP's Largest EAMCET Resources Website

95. A pipe having an internal diameter ‘D' is connected to another pipe of same size. Water
flows into the second pipe through ‘n” holes, each of diémeéler *d*. If the water in the firsi
pipe has speed *v', the speed of water leaving the Sccond pipe is

D' wodd argho EONS wf Fein, o8 F0drecso S0 FYDE fovndio.
w858 ' argho de 'n’ So St Sodd MEostna b B,
Sudd Fednd'd J6 v 54 fongibSy TodS Wiy sad He 24

Dy nh?* v nd? v d’v

(1 = 2) —ff

T

96. When a liquid is heated in"eopper véssel its coefficient of apparent expansion is 6 * 10°°°C.
When the same liquid is heated in a steel vessel its coefficient of apparent expansion is
24 = 10°°°C, If coefficient ¢f linear expansion for copper is 18 x 10%°C, the coefficient
of lincar expansion for steebis

e¥ o gt afBaW) J8 dhid, on Sy¥g g8 Mwdo 6 10°%°C
o8 (Ea0) pudnEd’ 8 InsHd ol &) Ets HeEsn 24 % 109°C. on
Bgs T EanEs 18 10°9°C vond Yoo BYg ops's Mmetin

(1) 20 ~@teg (2) 24 =< 107°%~C (3) 36 x10°%°C (4) 12 = 100

Rough Work

M40
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97, When the temperature of a body increases from T to T + AT, its moment of inertia increases
from | to 1 + AL If @ is the coellicient of linear expansion of the material of the body, then

Al
B is {meglect higher orders of o)

o SHdy Wof) aFASS T 208 (THADS 2olipds. ovd uddg raasis
I %208 (1+ AL 20Nel. S7Y wordo TWwE, Bg: 5:'55"13 M sdn o wond

Al
n Jesd (o Wng w0¥ Lreel S80 & canisa0)

; AT 2a
(1) w AT (2} 2a Al (3) :L— i4) :ﬁ

s cee—

-—

98. A sound wave passing through an ideal gas at/NTP produees @ pressure change of
0.001 dvne’em?® during adiabatic compression. The corre$ponding change in temperature
(v = 1.5 for the gas and atmospheric pressure,is 1.013 = J0° dynesiem?) is
NTP $& o8 eddjardng ogo dedidbono gl wb Rd s hobdsdns
0.001 dynefem® Sd 308" Srd: @ Seod B haE oW siibnom adiisd” drdy)
(Fr@Ensg 1= 1.5 S:0ddaowrsde Sas6s = 1.013 = 10° dynesiem?)
(1) 897 » 10*K (2) 897 = 10°K

(3) 897 = 10°% K (4) 897 x 107 K

99, Work done to increase the femiperature of one mole of an ideal gas by 30°C, if i is
expanding under the €ondition V « T*? is, (R = 8.314 Vmole"K)

Va T Dugddfh) *od ogf'dngsy of 3rd wdd) adn afiis 30°C
wovhefH Tddens o7 (R = 8314 Jmole™K)

(1162 ) (2) 136.2) (3) 166.2 ] (4) 1862

Rough Work
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100. Power radiated by a black body at temperature T, is P and it radiates maximum energy at
a wavelength 4. If the temperature of the black body is changed from T, to T,, it radiates

A
maximum energy at a wavelength —L. The power radiated at T, is

T, agii8 8¢ o §)i Sty D88 1Bog gdw P H:0ukw w8 A, Sdoi BYgde
ag Hog 487 DE0wo Winod. w £Hu Sk Twdy ﬁ@*._.-;-im T, %08 1.8

SrORRE wh lél dfodBdgo &4 A0 480 D8dmo SBsol. T, 5§ 2500

Sobondd ardag go
(1) 2P 2) 4P (3) 8P @) 16P

aman = = o —

- =

101. A uniform rope of mass 0.1 kg and length 2.45 ' m hangs from a rigid support. The time
taken by the transverse wave formed in the rope to travel through the full length of the rope
is (Assume g = 9.8 m/s®)

0.1 kg lﬁ.ﬁ-ga"-ﬂ Sa0cm 245 D0 NS SORS £ w08 ovdy oE 8 eordo
$308 |FerdbchndHod. 385 84zE S8odo edy Y FEPH Jowud
Bardodarll 2T sog (g<9.8 259

(1) 0.5s (AN B (3) 1.2 {4y 1.0s

102. When a vibrating duning fork i8 placed on a sound box of a sonometer, 8 beats per sccond
are heard when the length®f the sonometer wire is kept at 101 ¢m or 100 em. Then the
frequency of the tuning fork 1§ (consider that the tension in the wire is kept constant)
L¥ oo Dobdh TE) WE 8 Sobiyd) )B8oad) aoDBPds, Fa Dowl 84
& 101 cm S 100 cm aoDSDpd. § Ijodares (58 Dl 26838 4)Bdodo
Wasy SHipdgo (8A* d5g8 Hdomr dodigemr 8%:8%48)

(1) 1616 He (2) 1608 Hz (3) 1632 Hz (4) 1600 Hz

Rough Work
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103. The objective and evepiece of an astronomical telescope are double convex lenses with
refractive index 1.5. When the telescope is adjusted to infinity, the separation between the
two lenses is 16 cm. If the space between the lenses is now filled with water and again
telescope is adjusted for infinity, then the present separation between the lenses is

of pfite ﬁrﬁﬁﬁ;b E‘ms‘a Ssbgo, sfisbsw 1.5 ﬁLﬁﬁ:}:ﬁ flamgo O8N
Loyrsd Loson Srddogn wiod droRl Boldg00055 pds SbsugScy
Erdo locm. Sbwe Sy 2 Job ﬁ:#& wiiomrE 'Y Srds8adn Sobstonsdpdb,
fose SH§r (@ w8 drdo

(1) 8cm (2) 16 em (3) 24 em {4). 42 em

104, The dispersive powers of the materials.of two lenses forming an achromatic combination
are in the ratio of 4 : 3. Effective focaldength of thetwo lenses is + 60 cm then the focal
lengths of the lenses should be

DEDE Fdogrgw 4.3 Dﬂaﬂ-ﬁ‘ de dergros’ Sairddhd Tod dose Jod
wSgs oo JENESL. & SEP0 DoTWrd (DyrdFgoddo +60cm sond
oRe'D fhsie FrYgod ot Dendos

{1y =20 em, 25 cmi (2) 20 cm, — 25 cm
(3) — 15 em¢ 20°em (4) 15¢cm, - 20 cm
Rough Work
31Q
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A

105. Two coherent point sources S, and 5, vibraling in phase emit light of wavelength A. The
separation between them is 2 & as shown in figure. The first bright fringe is formed at *P* due
to interference on a screen placed al a distance *I) from 5, (D >= 4), then OP is

Tods Dond Do edses §,85, I8 S48 ') ddof B0 do 5ol Yo
Fougadaryon. 8, H0din S,u Sidy Srde 24 (Do Srdda), ﬁggfdﬂu
faroorr 8,5 D drdo (D>>A)8° ad) B¢ 2 P’ &40 Iy dygdloch@d

:hﬁ:ld-;ﬁ Bapda, OP Tg) dead

S P

(1 2p 2) 15D @ 55D 4 2D

=

== = - & == rre—

106. A short bar magnet in a vibsating magnetorieter makes 16 oscillations in 4 seconds. Another
short magnet with sameflength and width having moment of inertia 1-5 times the first one
is placed over the first magnet and oscillated. Neglecting the induced magnetization, the
time period of the combination is
of Zobloeiid ol Sr3¥odt, wf OJ) doordhdodo 4 wESG 16
Somo dbj08. m Gerdidpodo fud Gromr Jdcharjolstodud ol
Sdd, Sdory P0G 15 Dée addgprdifo SOAN =wefE doardiarpodo
THubod. v Setlric Ty, Soriddizoo (D drgo frar W08 sobdodtling
Va0 wHE i)

A ) 2 25
(1) 310 (2) 204105 3 75t @ 7p’

Rough Work
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107. A magnetic needle lying parallel to a magnetic field is turned through 60°. The work done
on it i3 w. The torque required to maintain the magnetic needle in the position mentioned

above 15

a8 wdyod E(dod" E |8 4% DHiroddom 45) of wabdpod Bridfde
607 BTjmdotE o Do wONS B w 3 Teys .Q‘si-émﬁ‘ Wiy e
peEagat -kl ngﬂrr' dodibi edRdRon wogradido

V3

(1) 3w () TW (3) wi2 (4) 2 w

e e i a ——— ——

108, A parallel plate capacitor has a capacity 80°% 10 I when'air is present between the plates,
The volume between the plates is then completely filled with a dielectric slab of dielectric
constant 20. The capacitor is now cofinected to a battery of 30 V by wires. The dielectric
slab is then removed. Then, the charge that passes now through the wire i3

&8 midrodd Dofe Sirhbd Soldg ‘.'i:nﬁg T adyayde 80 = 10°F sa%hd
acd. v dofe Sdbe WI20drsOaprie 20 B'GY Deod £OAS of S8
Rodwdod. v 3ROl cu@d: 0V Jovaddy u‘gﬂﬁﬁ drie areor Sotudso,
dovgd §'¢ 20 8RTNTl:, aWypd 8 (Do Ddgs eddo

(1) 456 x 1073 C (2) 253 =107 C
(3 120 = i€ (4) 12 =103 C
Rough Work
¥Q
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109, Two small spheres each having equal positive charge Q (Coulomb) on each are suspended

by two insulating strings of equal length L (meter) from a rigid hook (shown in Fig.). The
whole set up is taken into satellite where there is no gravity. T he two balls are now held

by electrostatic forces in horizontal position, the tension in each string is then

LF 68 2505 Ddgorddo (+Q) £0AS Tods D) Aves L Do g fe
vodfo BrAos® uf 30 Hod Fordbabed ook (e Srp@der). &
Bndo $333 MdegEide 2 rESLSTNE SREN TE R0, & WO At wves
jdoo B Degd wou fwroom f3u Ddrodl Bgod' aviom ww pd ang®
sod SHzd Dead

Q’ i S iDL
(1 lﬁna,,‘[..’ ) B1e, L* 4ne, L7 2ne, L
Rough Work
4% Q
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110. Three resistances of equal values are arranged in four different configurations as shown
below. Power dissipation in the increasing order is

EAMCET Rank Estimator

oS D5'%0 Dend ¥OAS Swrds DG pres dood® Srbitr Troeih Jgreer Sodngrox.
Sygrsrad rdad g Jeedes 5)40 aqdt

R R
I ..,.._'I.Wn_
"“}""'l‘lllh "'J'l"l"u"_Wl'.' ra .
R R R I R
AW

(1) (1)
R R
i e L
: N . 1”4
| el J el
(118 (IV)

(1) () < (I < 0¥ <Al

(3) (1) < (V)= () < (11)

(2) (I = =av)=(h

(@) (1) < Q) < () < av)

Rough Work
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111. Four resistors A, B, C and D form a Wheatstones bridge. The bridge is balanced when C = 100 ().
If A and B are interchanged, the bridge balances for C = 121 €2 The value of D is

AP's Largest EAMCET Resources Website

ooty Abfgres A, B, C #3005 Deost DEIT Y P& 285808, C = 100
wonsPpds L& Bodiodo Tolod. A, Buds wingdo drdydRd C=1210
&4 (D& Dodoodo Toad D Dend

(1y 10 €2 (2) 1000 (3) 1100 (4) 120002

—

112, Toral emf produced in a thermocouple does not depend on
(1) the metals in the thermocouple
(1) thomson coefficients of the metals in the thermocouplé
(3} temperature of the junctions

(4) the duration of time for which the currént is passed through thermocouple

uf adanf)odst -ﬂnﬁu oL Py werdodl Jhdho

nf,-‘-

(1) &% ooy 0D &' iie S
(2) ol duijod'n SFibe odnS hese Do
(3) Dodhe THL BE|Hde g

(4} agdud o orgor (Bdrdodad Ddigdyrarire Bws) vidsroo Ly

Rough Work
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" - H }
] ] e

H_n_‘i_f ) ndicular 1o the current element df 2
(1) 4nr B !
o Mol ’fl”."i_‘! F""H‘P‘:“‘h:"'m 1o the current element df
| o
dmr

[ ini : nt and pesilion vector 3
(3 .‘?:-Iidi purpv:ndiculﬂl (o the plane contaming the cumrenl cleme pa
T =

Ixdt ining ition veclor T

4 ol perpendicular 10 the plane containifg cutrent element and pos
. - S o087 i BeNn. B8 At Ddogh
g3 BEl Doy i dodt Déugl BT P oo

5 4o df B T8y dodom ﬂ&lt..! Dot S utﬁa;!:auﬁ. ﬂ-nt;unl,' muu‘:u&l
Eﬂ‘ﬁ%ﬁ:u g D&:cerodod 2oy & S0E T D-ﬁ:;ﬁ werodo L

I'I . . |

. ;ﬁi E':Lu-:i iy 844 oo wolaaryod ERL Fro|dd
wapdl. 99 3 il ‘
(n, = ImSp0 Ha¥y, *a-ﬂlcﬁzﬂﬂd:r

1 ol I-H—:“-E :}dasu'uﬂia dFE wowom™
( dnr

) E"—i:-r—“-di :}dasﬂ'uin df B womom™
ke 4ar’

- " I = B wow ﬁ'i
3} : S amzﬁ-::);"#' Hﬂ'iﬂu ?;5 p}ﬁ-‘ T !‘:Eﬁﬁ & ) ™
" __.u_..
T

| - % 2 wow G4
Bl R o5 gmin wodo, B BOAT £0nS SR
) A

Rough Work
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114. A primary coil and secondary coil are placed close to each other. A current, which changes
at the rate of 25 amp in a millisecond, is presenl in the primary coil. If the mutual inductance
‘s 92 = 10°® Henries, then the value of induced emf in the secondary coil 13

EAMCET Rank Estimator

nf [ rEdeE Sa0dn Mo b= wLEfornEsd Saom pandaon. Ik ﬁ:rt__.lu.?i
28 WD h¥odis 25 wobdh( Bene® D&g8 |Bariro Srddr aod. Bods
Sige wdtghy [wém 91X 108 P voxd, ' Gape® adom Doy & pwd
woo Jeed

(1) 46V (2) 23V (3) 0.368 mV (4) 023 mV

115. The de Broglie wavelength of an electron moving Witha velocity.of 1,5~ 10* m/s is equal
to that of a photon. The ratio of kinetic epérgy of the electron 10 that of the photon
(€ = 3x10* m/s)
|5 % 108 m/s Srios* 3OHs) Jogmd (&' sdea B e aurss d6oif BYgod
ssrdom dod. Jog e, FrRe How 4o a8 (C= 3= 10" m/s)

1 1
(1 2 (2) 4 3 3 @) 3

116. A proton when accelerated through a potential difference of V, has a de Broglic wavelength
3. associated with it. If af alpha particle is to have the same de Broglie wavelength &, it
must be@ecelerated through 2 potential difference of

W aranesd @o oot 15 |@erdo dgdmo SobsHd on & (Fh sdodRgge
\ ok afmlh BErsDs & ') sdordBgge % 908 aoareod oD Sg0m0
dass ol SBRd 3o

v v

¥ v 4 BV
My g @ 5 (3) 4V 4 8
Rough Werk

44 Q
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117. The half life of Ra®® is 1620 years. Then the number of atoms decay in one second in 1 gm

of radium (Avogadro number = 6.023 = 107

Ra®® Gaus) ed dddsoo 1620 Boddyorwe. 1 o |SEgo® He BA 08¢, 2.8
o’ §ahsith smPHo Howg (wSm(E Bowg =6.023 x 107

(1) 4.23 = 10° (2) 3.16 = 10" (3) 3.61 = 10" (4 2.16 = 10'°

The half life of a radioactive element is 10 hours. The fraction of initial radieactivity of the

element that will remain after 40 hours is

X ﬂﬂﬁhﬂrﬂ-lf Sarwfo Wl ef Zodsroo 10 Moten. 40 Hobe dogd
2AD aod Swro¥o Ty (Yo BATrero§ Easried
|

1 1 1
(ay 3 @ 16 (3) 3 4 3

119,

100
In a transistor if le =g and Ig = B¢ If ‘e waries between %I- and —— , then the value of

= R 101

lies between

le _ . 20 100 3
R R T B. a deos T @edain (o7 Sody Srodgon

wond B Dol wods gL

(1) 1-10 (2) 0.95-0.99 (3) 20-100 (4) 200-300

Rough Work
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120. Match column A (layers in the ionosphere for skywave propagation) with column B (thel

EAMCET Rank Estimator

height range) :

S
Column A (Sgdsdor (dFroas wah S Sr08008'D FEene*d D Column B (<
u C
Jdzo TpRed*d TSt wdddddn

Column A Column B
(1) D-layer ; (a) 250-400 km
(i1} E-layer (b) 170-190 km
(IlT) F-layer {c) 95-120 km
(IV) F,-layer (dy 65-75 km

The correcl answer I8
HOThR TGN

M (n Ny
(1 @ ) (€ Jdd)
) () () A=) Ab)
(3) (@) L@ B (@

(@), @ ) e B

Rough Work
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CHEMISTRY

In photoelectric effect, if the energy required to overcome the al;::c;qw.; ::::::::E :lr: “::'-:
electron, (work functions) of Li, Na and Rb are 2.4.1 eV, 2.30 ¢V and 2.

the work function of “K” could approximately be in eV v
ol D&e8 (Drrdsnd® Li, Na 4.8c5n Rbod® Jogime e e o fmﬂ
5~ iﬂuﬁ: jgﬂéac;d 48 (ah |ddire Sdanm 241 eV, 230 eV Had
;.:9 eV wond ‘K’ Tﬂ::!-'gr 6D (pPcie VG oD

(1) 2.52 (2} 2.20 (3 235 4 2.01

EAMCET Rank Estimator

121.

S
e

i in case of
The quantum number which explains the line spectra observed as_doublets in

i i 1 h metals is
. hydrogen and alkali metals and doublets and triplets in case of alkaline car

—m

(1) Spin (2) Azimuthal (3)  Magnetic (4) Principal ﬁ
2riGaS S00dn Fd Stase Dot ﬂgﬁbuﬁ‘:} Bko &t Twod m;a:: j;,:,
E.‘u;.,t’l! St B8 Drod' dgodl Poeo 0000 Lﬂ"gﬁt:—.‘ri-: D500 2
hop #

(1) f:u;_ﬁ (2) Szdnsd (3) Hdﬁa.ﬁ‘agﬁ i4) L.-:lq-.;&

e S —

T
123. Which one of the following cannot form an amphoteric oxide 7

& (oo o€ Do Bedges uB 6% DG g Sda? o
(1 al (2) Sn (3) Sb (4)

o

i % ¥ ivel
124. The formal charges of C and O atoms in CO, (:0=C=0:) are, 1espec ¥

2 ' =

Rough Work
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According 1o molecular orbital theory, the total number of bonding electron pairs in O,

15

EAMCET Rank Estimator

wey wd)erd Bgroddw (56 B, 0,6 b)) wod Josteh sobw Roeg
(1} 2 (2) 3 (35 (4) 4

g ——

126.

127.

(e mole of N,H, loses 10 moles of electrons to form a new compound £. hmurning thfﬂ
all the nil::l'l:l-gcn'ﬁ appear in the new compound, what is the oxidation state 60 nitrogen In
Z 9 (There is no change in the oxidation state of hydrogen)

a4 3rd NH, 10 3rdo Jugrened £t yow T Hdneitan 2 Q:ﬁi}:ﬂhﬁji}
S|Eute, £8 SRR & amyadaiedy 276" 3%l ef Lo 28 Jo
{:J‘iﬁ"ﬁ.'?.‘- B!:lﬁdm %ﬂﬁ‘ Srday Bda)

(1 -1 (2) -3 {3) +3 (4) +5

Which one of the following equalions represénts the variation of viscosity coefficient {n)

with temperature (T) 7
¢ (BoB shddnsnbd® 00 &g‘u"id (st 'p:'rl-l:m fomEo (1) Sordoyida ArLodein ?
{I} r|=ﬁ;u""'“r (2) nﬁhcm[ (3) ql-_-.ﬂ..l:r'rkl i4) T|—'.|'!'|.1:'+ﬂ

128, The weight in grams of a ion-volatile solute (M. wt : 60) to be dissolved in 90 g of water

to produce a relative lowering of vapour pressure of 0.02 is

0.02 5 epdyhas DEnds 0Acdes 90 T Hes' d8Acddonn
wers ROy orosdn (wegrdo = 60) erddn [rHved

(g 4 (2) 8 (3) 6 (4) 10

Rough Work
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129. The experimentally determined molar mass of a non-volatile solute, BaCl, in water by
Cottrell’s method, s

EAMCET Rank Estimator

(1) equal 1o the calculated molar mass (2) more than the calculated molar mass
(3) less than the calculated molar mass (4) double of the calculated molar mass

2.8 wari ) ¥0 (ordddn, BaCl, so|crdnind’ SLTS (BTrTEE Dgrdde oge
SEowoad 2rorl grdo .

(1 880w Irerd prdoth hdrddn  (2) o83 003 el wrdo SR8 JEnS

y&o0d
(1) ©io0d Ireb ygrlo dod S8 (4) TEodad Srerl pdof Tobodws

MR

i:ﬂ. The number of moles of :\&mns required to deposit 36 g of Al from an agueous solution
af AlNG,), is (AL Wi of Al = 27)

zo AlND,), |[gramo si08 36 (g% Als: 2320 FEosnh sHohd dogFise
3rdo hopg (Al RoLIm gl = 27

(1y 4 (2) 2 (3 3 (4) 1

131. The emi (in V) of @Daniel cell confaining 0.1 M ZnS0, and 0.01 M CuSO, solutions al
their respectivedeleeirodes id

p Bo &4 &3
0.1 M ZnSOy Zsoaiw 041 M CuSO, |oaere H8rHme a8 J‘t}-g'j o &4 3
o ¥ Ao Dowdy ey emf (Vedh

(B8 1ou = IORE 7 170 =— 076 V)
{1y 110 (2) 1.16 (3) 1.13 4y 1.07
HuughWnrﬁ
49 Q
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132. Which one of the following elements, when present as an impurity in silicon makes it a
p-type semiconductor 7

& 208 o0 2 Sorofsn S0Som sol WOsS p-oo o Frsdn eidiod?
(1) As (2) P (3) In {4) Sb

= = ar =i ——— =

133, Which one of the following statements is correct for the reaction

CH, COOC,Hg + NaOH — CHyCO0Na + C,HOH
(aq) (aq) (ag) lag)

(1} Order is two but molecularity is one
(2) Order is one but molecularity is two
(3) Order is one and molecularity i< one

(4) Order 15 two and molecularity is/two

CHy COOC,Hy + Na@H = CH;COUNa+ C,H,OH
(207 (@l @) (= (o7

& S0gs Sod @admost 28 ROTLIG?
(1) (Farcfe Dode W wiod s

(2) (Sarofo aid SR @nod Todo

(3) (SaroSole Sl @ 0oiv wewd sl

(4) (H&5r080 Todo Ho0din wmod Todo

Hough Work
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134, The catalvst and promoter respectively used in the Haber's process of industrial synthesis
of ammonia are

AP's Largest EAMCET Resources Website

trab Sgd oo sIrIGr FOTios moland' ad@rnod adysdZe
AL T T {&ﬁfi’u adatne

(1) Mo, "-":i}j (2} "r’z'f.}!, Fe {3) Fe, Mo i4) Mo, Fe

_— I —— ——— L e e - —— — T —

135. Which one of the following statements is NOT correct ?
(1) The pil of 1.0 = 10°% M HCI is less than 7.
(2) The ionic product of water at 25°C is 1.0 = 1% mol® L2
) €I isa Lewlaaghl. -
(4) Bronsted-Lowry theory cannot explain the acidic éharacter of AICL,.
(o8 Jddmeod® I8 HOTHIE ;T
(1) 1.0 = 10° M HCl (orSagfpll” Dol 70808 &5,
(2) 25°C 8¢ R ocirdg podn L0210 3,82 672
(3) CI" 28 eroe wdads,
() AlC] oIy @8y Sgepardp@rs il - 0 bgroddn D¥bEsosEs.,

136, The molar heal capacity fll.'.'P] of water at constant pressure is 75 LK ™', mol™!. The increase
in temperature (in K) of 100 g of water when 1 k.J. of heat is supplied o it is

38 LAl Ad B¢ Fref shede (C)=75 &K 3100 e bt
1827, adrdNSU S9de edHsS® whide (Kodh

(1 2# (2) 0.24 (3) 1.3 {4) 0.13

Hough Work

51 Q

EAMCET Mock Counselling www.netbadi.in College Information System



AP's Largest EAMCET Resources Website www.netbadi.in EAMCET Rank Estimator

/A

137. Gelly is a colloidal solution of

(1) Solid in liquid _62Y Liguid in solid

(3) Liquid in liquid (4) Solid in solid

2d 28 Foond odmo

(1 |gdes® Jddodo (2) Pddordod® |BEsn
(3) |Gdos® G0 4) ;:a:ﬁé-mg‘ﬂ-ﬁ“ dodborgo

iJﬂ. The product(s) formed when H,0, reacts with disodium ‘hydrogen phoesphate is (are)
H,0, Brddio o @us Sby48" Jdp Tendyd, ROyE 2ar 2550 (w)
(1) P,0,, Na,PO, (2] Na,HROg: H.0,
(3) NaH,PO, - H,O (4) WagHPO, - H,0

139, Which of the following is NOT correct ?
(1) LiOH is a weaker baSe than NaOH
{2) Salis ol Be undergo h}dmlysis
(3) Ca(HCO,), ds soluble inowater
(4) HydrolySis of beryllium esrbide gives acetylenc
Fed oREY 28 _L0EL &
(1) NaOH £o@ LiOH wowrsi Tl pddn
(2) Be Tfy ol mo IMandn Jodods
(3) Ca(HOD,), 28" £8%
(4 FoDoio 58 385 wo Idte mIh INedS Doydede

Rough Work
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140. What is £ in the following reactions 7
& (Bod ddsﬂﬁ‘ Z 287

. Cu=Al
BCly + Hy —eni s X + HCI

methylation
-k

hETas
(1) (CH,)BH, (2) (CH,),B,H, (3) (CHyLBH,  (4) (CHy)B,

141. Which one of the following elements reduces NaDH o Na 2
& (ol Swosinod' 26 NaOHZ:, Narr ZonEbodads?
(1 Si (2) Pb (3) € {4) Sn

142. Which one of the following is used in the preparation of cellulose nitrate ¥
& (Bob 8¢ WAL hopd' € JUSH dairidchald s0TWrAda?
(1} KNO, (2) HNO, (3} KNO, (4) HNO,

A EEEET . S —

143. The oxoacid of sulphur which confains two sulphur atoms in different oxidation states
i
(1) Pyrosulphutous acid (2) Hyposulphurous acid
{3) Pyrosulphuric acid (4) Persulphuric acid
;:J:_S wiydas SEo o Tods Doyl Sddrmipomd) EERL o'y wddn
&

(1) z.:ﬁ‘faﬂrggﬂﬁ TEEHAT (2) :-rﬂ‘:’au?;}aﬁﬁ wdidn
(3) 28 %erypof esbe (4) b8dorygof sdds
Rough Work
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144. Bond encrgy of Cl,, Br, and 1, follow the order
Cl,, Br, 38 oo sz.r wod 48 |Fdodw
(1) Cl, > Br, > 1, (2) Hr: > i.'Z‘I2 > IE1

(3) 1= = Br, = Cl, (4) 1, > Cl, > Br,

145. Assertion (A) : The boiling points of noble gases increases from He to Xe
Reason (R) +  The interatomic van der Waals attractive forees increase from He to Xe.
The correct answer is !
(1) Both (A) and (R) are true, and (R) is the comect explanation of (A)
{2} Both (A) and (R) are true, and (R) i$ not the correct explanation of (A)
(3) (A) is true but (R) is nol true
(4) (A) is not true but (R) is trué
HAyEse (A) @ =dardiado grlagsd agffiden, He S0l Xe 505 "adofbie.

sdnds (R) ¢ wodd S0Sraay Sdgfe Fodb >dy wfdn neron He
Senld Xefs HS.

ROTRE DIDOW LR

(1} (A) S:005% (R)od REisy S:bdin (A) Eﬂﬁa_ f}ﬂ-_@aﬁ wude (R)

(2) (A) 3:005%. (R)eoDasn S0dn (A) Tud; H0Ths 25dm (R) s
(3) (A) Dudy oD (R) Dusn &

(4) (A) 3=Se s w0 (R) dudo

Rough Waork
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146. A coordinate complex contains Co®’, C1” and NH,. When dissolved in water, one mole of
this complex gave a total of 3 moles of ions. The complex is

28 Hodga HE¢ssns® Co¥, C17 Modks NH,wF00. nf Ard Dy esdod
gt £8R0DSHG: Swdsn 3 Brde sdrlod aljed. @ CESLEES

(1) [Ca(NH,)ICl, (2) [Co(NHy)CICL,

(3) [Co(NH,),CLIC! (4) |Co(NH,),CI5)

—_—  —
e ———— T e e
e e - - —

147. Ni anode is used in the electrolytic extraction of
(1) Al (23 Mg
{3) Na by Down’s process (4) Na by Uasiner’s process
B adgagTan Da)Ens (Mg st b SETrATd:
{1 Al () Mg

o, wil ol
(3) &5 agads Na (4) =236 2gad Na

e —— -

148. The pair of gases reSponsible for acid rain are
wi SgRidamiogd Tduye oS

: ; 4) CO, CH
(1) Hy, O ) HC, O, (3) NO,, SO, (4) 4

Rough Work
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149. The chlonination of ethane is an example for which type of the following reactions 7

{1} Mucleophilic substitution {2) Electrophilic substitution
(3) Free radical substitution (4) Rearrangement

g0 Ty £0da5 & fod Sdges® W8 eoirde?

(1) SrgE@rpds poaioe (2) def'9%dE 28Fde
(3) mgoy@redod @iide (4) o0

150, Dniferent conformations of the same molecule are called

(1) lsomers (2} Epimers (¥ (Enantiomers o (4) Rotamers

2E ool WeE ¢ eldrdsod Godrs:

(1)

BI*EEs (2) IDSads (3) IFYEPEE: () Serseds

—— _— —

151, Which of the following statements. is NOT cofrect 2

(2)

{4)

I'he six carbons in benzene are sp” hybridiged
Bensene has (4n + 2w electrons
Bensene undergoes substitution resctions

Beneene has twe carbori-carbon bond lengths, 1.54 A and 1,34 A

G Boh " 00 HOGLE DEdm TE?

(1) Bo25¢'l wd@sSte sp’ HoLdE6msn ToaSD

(2) Dol (AlHw Jogrssos E0A 458

(3) Bods RETLm Sdgod® drdtHd

(4) BodBSVBods 57U 5-50)0 vodB o 154 A So0din 1.34 A 65D
Rough Work
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152. Match the following

List-1 List-11
(A} Acetaldehyde, Vinylalcohol (I}  Enantiomers
(B) Eclipsed and staggered ethane () Tautomers
(C) (+) 2-Butanol, (-} 2-Butanol (11T} Chain isomers

(¥} Methyl-n-propylamine and Dicthylamine  (IV) Conformational isomers
(V) Melamers

¢ (208 ovun mdBddod

a*Dar-1 . lo-1
(A) QT b, D36 wo)dd (Y £ &0 Gdings

(B) ire S0ds widsh Y3 [ AR ST LA

(C) (%) 2-m0g83°E, (-) 2-mogoSiE () fesds ddyTges
(D) L@@ Tad Juol Sebee V) esadrs FEyrge:
Bagd ok (V) Towrdads

The correct answer is);
HOTLY Hirghhiyn
(A)  ABFS0(C) (D)
(1) (n  avy @iy v)
(2y (1) (v V)
(3) (V) (0 (V) (1)
(4) HNAlY (i Il

Rough Work
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153. With respect to chlorobenzene, which of the following statements is NOT correct 7
(1) Cl is ortho/para directing (2) CI exhibits +M effect
(3} Cl is ring deactivating (4) Cl is meta directing
E'S* Bodi% Dowodol. & 2ol TES' HOTHS DIEe IS WO
(1) Cl ug'fj-n- NgdEEn (2) Cl \;M [Eerddn dripdidl

(3) Cl Seods Adaisn (4) Cl Bt DPFES0

154. ldentify the product in the following reaction

& (50 ﬁdgﬁ" adydysnn fidges

OH
e CHC
| ‘EE#IL" Product
T ad:}ﬁlﬁm

CHO CH

m | j @ [
e kx\:;,’:‘“

@ ||
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155, Compound-A (C,H,O) undergocs following reactions to form B and C. Identify A, B and C.

gin Cods 2djdmged.
D@y @ddu-A (CHLO) & (500 Jdgest ¢d B 50 3
A B S:0u8n Cd ffoipawn.

EAMCET Rank Estimator

(_‘ 4_;"‘EHE".!'|_{._I'.._ C3H 0 - LiNaOH
A
A B L&
i
I ~ L] _ %
(1) llnﬂ—-ﬂ—EHJ CHI, Il_,*i:'—-ﬂ_l-l1 *{'HE_{}
(2 Hzl:.'-T;'—f'li:ﬂ'H l"i[il |I._tl:——'lf_|'|:—-'Z_||2 H
H _
&) ||5('.——‘:H£-- CHO ':Hjl H!l':—--'lu'_H.—'lll_:ﬁ.‘1
H
0
|. ] L - A
(4) H_.L' i {._'Hj '[l"l ":‘L—(_ll C'H}
OH

— — = e
i s - s
e ——————— T —

: : S
156. What is the product obtained i’ the reaction ol Acetaldehyde with semicarbazide °

N &7
%6 Hhylypss SEp@odm ok ad30) Dorgaw

0
f o
(1) H.C CH = N—HH<CSNH, 2) N, =N --anﬂ
I
1.C—C = N—NH—C—NH,
(3) H,C—CHEN-<OH (4) Hy : .

CH,

Rough Work
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157. ldentify A and B in the following reactions
Bod Sdgud’ A Sbde Bod MioRde

Lle e, ﬂ'.r
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158. The monomer of ncoprene is

{1y 1, 3-Butadiene {2} 2-Chloro-1, 3-butadiene

{3y 2-Methyl-1, 3-butadiene {4) Vinyl chloride -

n@rbie*y IrTF b

(1 1. 3-m-5u=r:iw5 (2) 2-8°6%-1, 3-urgerdowrs

(3) 2-8:88-1, Jurgirdons (4) 2pd 556
159. The site of action of insulin is

(1) Mitochondria (2) Mucleus

{3} Plasma membrane (4) DNA

:ti-:l:rl!}ﬁ i o 'f,.‘:l-u;‘.‘:::r

(1) So&sodolir (2p Bosssn

(3 &3 deud b (4) DNA
160. 4-Hydroxy acetanilide belongsto which of the following 7

(1) Antipyretic (Zy Antacid (3) Antiseplic _k4)  Antihistamine

4-prigrdy JDpIEBE, & (Bob TUSt TAE Todidiod?

(1) drod VESE ¥ (2) drotrhd (3) FrodTBE  (4) cirodirpaad
Rough Work
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SPACE FOR ROUGH WORK
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